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50 Tammo M.Reisewitz

KDEVEEDIZHD
one 1> b

But first ...

Let's speak English

A monkey who falls
off a tfree once
will surely fall again.

Difficult to think

when you have just fallen on
your head ...

| only need 1 point!

1 7R > MEIF2 Here we gol

PPZ2HEL & 3!

FHECEHES>TESH D!

Why not PP2

It makes you write long boring bullet lists
Nobody willread them, so ...

It forces you to read your own slides

It encourages you talk too fast, because ...

It lets you cram too much Into your talk

It tempts you to write too muchin a smallfont
It seduces you to use irrelevant pictures

It invitesyou to recycle old presentations

It discourages participation of students

It makes you use superfluous animations

It infroduces too many unclear fransitionsinto your talk

Before you know it, it is pawa-hara!

And evervbodvis asleep

1
I

HONESTETNET

—EAMS
BEIREWT
FEEE53

And so it happens, not just with
monkeys

7

But | have to give reasons!

Why not PP

PPEMEDS &, &/3...

o ELCHFSARVEIESEEEL

o HEFDBUVNSIINIFEED

o HEZFBRLNS - - -

o HARKBNTASA MaeFmEH LiTD
® BLBLPNAD, T - -

o FATENATEILEVICEDADHS
o BEFRDLVEEEAND

o BT EMECOBEHNMATS
o GHEDENEHED

o FEERV - A—>a>EHES

® FERTEIIEICRD

o HSRVAIC/III\S(CR2B!

® HAREIRD(CHED

Avoid the use of power p@int;
let the students speak instead.



Are you asleep? How can | wake your intereste

!VUFkMaKf

gars L2

g% = pretict = Primary
 picture Commercials

ontroversial

munication &' VIDED
oy ot
2= Popularty iy Nalers
ficialSiobss Program ¢ hﬁﬂ"""EIU

GUS Canada fiexpgdsl opeil

Proposal

=3

= Fuel

8

Like the

! .
Nobel prize in physics R [Brg piciule

Wrong fime,
Wrong place,
Wrong bicycle!

No, this guy !

But food is too easy,

Listening >> Doing
yet this is foo hard(?2)

G, C, [ A1, A, : maximal sets unified to(=)P(s ... s,) |
(o} Oy C*=C#,0, [C by res. using c ua-mgu]

C,o] 9 ={(Cr=A1 v (Co— Az )0)6:6,

=(Ci-A U (Cr-A )(a(0,8,))  [o"vold’]

=(Ci-A U (Co-A; 016, [A max]

=(C18,= A16))u (Co0,— As8,)  [Vars apart]

=(Ci01={P(ty ... tn) (Cobp— (=P ... 1))

=

Too easy! Too hard!

1

<4 >
Can’t learn ' Can’t learn

[ Learn by doing and failing |

Why do they turn red?e

Anthocyanins

vacuoles




What is the most abundant element

2 . .
Why do some turn another color? B e Uriverse?

Chlorophyll

125 Mpdh

disappears...

..leaving

carotenoids

Which likes the four-fold bond

[tis
tetra-
9 1
valent

hitps://commons.wiimedia.org/wiki/Fle:Caroon_basic_phase_dlog

Eight Alloropes of Carbon"by Created by Michael Strick mstrosc -Cr g
RIOVIa DA EAT A7 - TEVK -

t Allotropes_of t_ Alofropes_of Carbon.png.

Or forms the formidable

S)
@ ° R! :§R3R2

1/ C""'l R3 ~
R2

And what is this? (Back to food)

R

What is thisg  All fogether! What might this be?

Google says it, it must be frue! One with two fines, a 222

Torh Thack

W

7

A fork and a threek
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FHERDATHH_ &

« HEBICEEETAIEMA TSI
s BHRORATLIZFREQVEL—2DENAEZENER &

BEoTWARAE(ICEST AVEL—2DENAEHRZ TS
RETHDHL

FHER THATLIAE
UnixaZ R
I 4%emacs
BFA—ILOENAE
WebX—4E R
LaTeX
9 Z74E) 7+ (Gnuplot)
FA—Y 7k (Tgif, Inkscape) . XA ;Y Tk (Gimp)
Z D ftaUnix Tips
BYFRAELT (BE)

(REEYYUvT TRy

@HotenaBlog  posn:

W9~

D‘h#ﬂlﬂﬂﬂ)b’JAﬁ? AR - BIERICHISY 20@?—’5@‘5’*@%

1EHERE
BR AT LITERTEIELERIFOUnix/ LinudRETO
FHEBARAAEDEARELLTHEREREE/RL TS
— Unix/ LinuxBR i L TOEKIRE
— LIR—MERISRELGY I 7 DEREE
- LR—rEECHEBEEOHRE

- B4, TA2%

$BA30~60% . BYIEEBICFEBALTETSES
FFEBEOFRETEEEZH T (@UIY(EZRE~2 4 8)
SBAPHEAITURET R TWebR—TIZRE#HL TS

DMIF TSI E

+ AVE2A—EOFENHILEBEEFRICRERE TL,

BIZOAELDT, BREESE A1 FE L)
— [ZIF. BEIEHE, EETELLIWeb Y (hEFRR

+ 1DOBEBEITEBROFUVEEDLNSLSIZT S

— BEIUYT
=X—R—FAAICIEND+T0J +HEFE
+XEER+RAEORAER + SHRIEOER

+ IFEERIFIRETHAOT, FHRMEBRATEDOIELTO

DB PEBEERLEIITT S

— AT r—hEEY, FRORMICONTIHA

- PANFEEAXF, AXFENXFOENT
RHEZSZELGL BRRHEZESES

2015F EDTERE
7 (1088%=/H)

akura.ne.jp/sushida/ )

o ITAADFEEELTRDOEL MM
s BFALOBEELTAARREI )YV TRA
+ WebY A MERL (HTMLAY 2 F 5 T)

XOBBELTSAS . ARNREVIYTRR

+ GnuplotTY 571K
* Gimp, Inkscape CEHEERL & LaTeX TLR—MME
o ZShOBRET7AILDEEDHEL TWebX—IAERL

7B TRV TR (1/2)

+ BRY A0 (XEEZRUH) ORRERVERBETRoTIE

LL\OT, BRER O TEERTTRRETHETLY
%

« FREGREMISHT B5ATYRIENSLOHIKRERL
LBRRARYMDELHIBEESDICL TS
(;E%E0Y /70)% RIE 10EEE X3A~5N)

ELEoFYLRDT, TEINEYRERICIESD
BOKSICLTVWS (EEEICRATHFELEST
TRLVEENND)




fEREf): EEV VTR (2/2

s BEQHTEZ-ERIOER :JRA3H
—2XUETHASNTEY. M2 ESLTEDLSICE
ZE=OH. ESLTEDLSIBERICWV =DM DE
HEAEPALREIN TS 38
— IXTHY. DD ESLTEDLSITEZ DD, ESL
TEDESIBERICV=o1=DHDEENE LA LT
#HehTns:28

BEHEREBSN TGN, B PERIFFEHSNT
W% 1R (ZDFEE LA FERBTHCL)

- BR3IEZ -FROELLDLEHSNTULVEL 05

BRESI: 2015 EED2ME

BE:20A

INR(ELTAR/NIL) 12A

SEE 2N

~ BREEEUH—T750: CDOERTRAST —FN—R
- 7% BRHB—(ZESTAR) A& HE
LRUNOKR(ERE. HELLE) 124

Z DMt 1A
— Mr. Children 772457 &% Father&Mother
2IFER BRIS

BRETORETE22E(12)

2008 2009 2011 2012 2013 2014 2015

MS Word#%& 70.3% 73.8% 70.7% 78.8% 74.6% 85.7% 84.3%

MS Excel’z& 46.9% 58.5% 77.6% 77.3% 87.5% 96.1%

MS PowerPoint’3&  43.8% 36.9% 63.8% 77.3% 66.1% 80.4% 86.3%

BERIVOY )5.3% 92.3% 70.7% 80.3% 61.0% 71.4% 66.7%

WebR—CDER  25.0% 36.9% 24.1% 27.3% 254% 33.9% 23.5%
THY 5= 156% 92% 1.7% 12.1% 3.4% 10.7%

Unix¥®MacOSDELFT NA NA 00% 00% 00% 18%

o ERorf=H

2011 2012 2013 2014

EREfl: RDEH(1/2)
s ITAADHE&F—R—FHRBLLOMOARDEHNE
SHEHTLD (BEBERICEIERED)
- ADOH5F L (1200F LU E2000F L TF)
—~ BRAETAHG00FLUL)
- ZDOANSFANERDELIZSMAERSH,
FESLTZEDLIITEZ DM (600FLLE)
o B FIEE RBEBLLTHBASETLND)
[FSETAAEREN—=2T, REERE
- 2B FE B GBELHY)
o EL.AOEHFhOZELEET HEEA TS

F =

BEOWeb7 o7 —h o AT LEESTHIE.,

i (O B T &SHLY)  REBUSEIR) IS7o7—k

ZE-oTLS

— ENQUETE-BAISE
http://rook.aise.ics.saitama-u.ac.jp/eb/

ME7 7 —hTIRIERS AT ATERAZBEOTRR
PREMLEEMR(CEERMELTNS

%Y D2[EEHREDIRYIEY LREFEADHEIS
FALTLS

BRETHORETE S-2E(22)

100.0%
~-Word

80.0% ‘\\
—
-a-Excel

60.0%
=&-PowerPoint
SRRV
: 4
0.0% \\/\/\‘

2006 2008 2009 2011 2012 2013 2014 2015

E:2006~20001ET /YA PT—YRT—2aVEE->TEARILEE
LE=CenBYET M 2 1EWSERE S

HAEWERo=[H

Unixa ¥ R1, WebJ 574 48% 1.6%
T7AN-TALIN)BAE 1.6% 13.1% 1
L5 1Hemacs 113% 33% Y
EFA—)L Mew 1.6% 25.8%
Web_R—S4ERL 82% 11.3%
Unixav/R2 22.6% 148% 8.1%
LaTeX 9.8% 21.0% 15.6%
'S 7H#E) I+ (Gnuplot) 81% 13.1% 4.8% 63%
FO—YJh (Tgif, Inkscape) 16% 16% 97% 63%
ARAFJ T (Gimp) 12.9% 13.1% 32% 10.9% 11.1%
HREIAX 32% 11.5% 19.4% 172% 20.0%
SSHZEfE->f-YE—FOT 1Y N/A 38.7% 15.6% 15.6%
zsh N/A

2011 2012 2013 2014 2015

UnixavR1, WebT 574 194%  6.6% 145% 18.8% 20.4%
T7AI-TALIN)#R4E 274% 13.1% 17.7% 25.0% 40.8%
I T4 Femacs 30.6 148% 17.7% 203% 24.5%
FEFA—IL Mew 145% 82% 97% 14.1%  82%
WebR—IAERL 54.8% 672% 613% 453% 51.0%
Unixaw/R2 21.0% 6.6% 16.1% 23.4% 28.6%
LaTeX 242% 197% 22.6% 35.9% 24.5%
5 5 7E Y 7 (Gnuplot) 145% 13.1% 274% 21.9%
FB—Y 7k (Tgif, Inkscape) 323% 18.0% 46.8% 32.8%
A2V TH (Gimp) 38.7% 57.4% 565% 42.2%
HRBTAR 355% 18.0% 12.9% 28.1%
SSHEE-Sf=YE—hAJ (> 9.8% 22.6% 35.9%
zsh 18.0% 113% 26.6%

2014FEEHMSIEL vs EELY

Sh5EN mAL
UnixaY K1, WebT 594 3.1%
T7AIL-TALINBE 17.2%
L5 (Hemacs 1.6%
EF AL Mew 14.1%
WebR—IAERL 17.2%
UnixawR2 10.9%
LaTeX 15.6%
'S 7H#EY I (Gnuplot) 6.3%
FO—Y 2k (Tgif, Inkscape) 6.3%
KAV T (Gimp) 10.9%
HRERAX 17.2%
SSHEE-f-UE—FAT (> 15.6%
zsh 7.8%

REVYTRE

REIYYIDEE 2012 2013 2014

ETHEDLof 21.3% 21.0% 14.1%
D5tz 50.8% 53.2% 43.8%
eIy} 21.3% 21.0% 35.9%
Fof{26LHM otz 4.9% 1.6%

RuoZE 2012 2013 2014 2015

[PaLlEm ot 21.3% 29.0% 39.1% 53.3%

ETEDEh o 16.4% 11.3% 17.2% 17.8%
DHA DT 55.7% 53.2% 39.1% 20.0%

FofDoHh otz 4.9% 3.2% 4.7% 17.8%)

2014EN DR AR ROESABE 1 AN DIANHIE
(R R REBHE30EEN52705EEAN)




2014 FEFREICE P LB (BERT)

REIIVT4AS

FRHEW/AEE

}Inkscape

BET

© 20I5FEREIFET 7 — b TOREDOHHIR
- REDEENESTED
ERMNRYLBEDERICR
RERRNRYGGS AT S
- BENETED
- RAOEHFFRTRICERLTVOICHRMZE
mY4=3

o TERERE I OWebH A MEIEAMN DS EBEAIRET

http://www.ais itama-u.ac.jp/~gotoh/Lectures/CL/

BHYIC

+ BEOPYAERTIHEVNIBRT

TIRBVMNERS (2L, FTuINKE)

+ BEDOEISOVTEIEEMEMEA. BEEPLHIETES

DHFCEHEN ENDELSRBEAHNIL, BEMITET
THFEEINEYLND
(BET7V7—h-BEFHE 77—t O BHEEEREY)

s BEIOVLWTWIEAoTEEIC BEADOWeb Y (%

RABENENS RIFFEDS
(BREHET > 7 — O B BRERLY)

» OBt EEICE, REDAH TRHEEHT

EMTELLS (F: STHENHD) DT, KEE
AYLER

20




91

FYBLEEDO-HDTURSLUE EERB 2RI
FENALR i
o RRPLBRILEHEL WPEHEDBRESLEEE)
o BERRO: BERE
o BB HHTF—SORE, LLEH,
N——— ERNIEE T (REE T, B RTE,
TR ERF T RTE), BEAT, BREE, 14U%R

ISR e e o i 4z
o AHEMX RELFLOEBRMHER
D o AHE64% T s
24E 4152 %(34/66) 24455
FHUEEEEAETEHDLURSYH L 3496 %(24/25)  BFETIR
(2 £ B5:4817)
REFMAERR BREFMAEBR QAL
. | . |
o REMERE o RULVR
BRTED 58 % O " EF# LRBALTTFE 21D TELM -
eRETEs 87 % Q@FHENNTRE, ROTh ol
EBBELNAHL 4%
HEYBRTELL 1%
AR am o WETREA
* *ff;i"ﬁmt*%mﬁ . D BATERENT | "AET, BEARIHE
2~ 4B 5% QEBHERBE T, HETRELEEDNDHA DT
1~ 2858 40% O ERITH-MBLEET T MIFTIERYEN
1BERR 32% G@REAHWVELDEL>EFLEE M2 TT
OB%f 6%
EEHN cmollDBKE R P DKE
REICHNWMEEILNDIER 1AV REZSHEICEOTRDH &S
. | CH,COOH + H,0 = H,0* + CH,CO0-

o ZEENREEZT-:1008

mEl (2 DEA o EBEAON S ER [0 Torc00]_caxca_ca
. *= T [CH,CO0H  ol-a) 1-a
o FECHAFLBNELDDL, FLEEEES
TIFZBLEA D=7 BREIBRELTIEREN NS (1>a)

o MEIRE-EHIREEEREL, L TEHHEI e e
R TE L EOREDBUNKEN 122 =

BHEENKEEEE? c mol/l HCIi& & DpH

B DI E (STE2fERt:a=1)
HCI + H,0 — H,0* + CI

¢ (mol/l) pH = -log[H;0%]
1.0%x10" 1.0

1.0% 1072 2.0

1.0X 10 5.0
1.0x107 7.0 7

1.0%x 108 8.0 2

KD BEEHEMRICEERLTNS !




RTOIESEOBEEHEIZE>
+ whO

01 +ch.coo]
c(1-a) col col

EEMNcmolllDEEKBERDT

ME X EBRFUINZ (ILFE )
material balance & charge balance

ME
¢ o Jencoo]

EEREIK A% . [CH;COOH] + [CH,CO0] = ¢
*" [CH,COOH]

& [CH=c

BRI (BEMPEOZE)
H,0 + H,0 = [H,01+/ot|

BEEZ KA [H,01] = [CH,COO] + [OH]

K, =[H;07][OH"]

& : [H,0] = [CI] + [OH]

RETRIEEMBLIGLRIE

HANBEERLE

PENEERSELTEOTLD (BEF
AHITLTULS) SRS S YEN TS
HHEORN)—ERHETS
RELXETARELS (FEE D)
(INGRAVMZIEBIENESITEER)



